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  PART I : Multiple Choice, 10 points (each question is worth ½ point).


1. Using the figure above, which of the following would be most likely to cause the demand for macaroni and cheese to shift from D0 to D1?

a) A decrease in the price of macaroni and cheese

b) A decrease in the price of flour used to make macaroni and cheese

c) A decrease in income, assuming macaroni and cheese is a normal good

d) A  decrease in the quantity demanded for macaroni and cheese

Answer: C

2. Ithaca is expected to have an unusually cold winter, so demand for sweaters is high.  In addition, a new sweater store is opening in the mall.  How should the price and quantity of sweaters change?

a)  price rises, quantity rises

b)  price falls, quantity falls
c)  price ambiguous, quantity ambiguous

d) price ambiguous, quantity rises

Answer: D
3. Suppose cereal and milk are complements. What can we conclude?




a)   An increase in the price of milk will cause increase in the demand for cereal.

     
b)   An increase in the price of milk will cause decrease in the demand for cereal.

     
c)   An increase in the price of milk will cause increase in the supply for cereal.

     
d)   An increase in the price of milk will cause increase in the supply for cereal.

Answer: B

4. The government imposes a maximum price on apartments that is ABOVE the equilibrium price. You accurately predict that

a) The law will have no economic impact

b) The law will crate a surplus of apartments

c) Renters will find that landlords start offering to furnish the apartments

d) Landlords are less likely to do routine maintenance work in the apartments

Answer: A

5.  “Real” GDP refers to:

a)  Production of goods, differing from nominal GDP in that it excludes production of services
b)  A measure of GDP which adjusts for the effects of technological change
c)  A measure of GDP which adjusts for the effects of changing prices
d)  GDP measured in current (nominal) dollars 
e)  None of the above
Answer: C
6.  What is the Federal Reserve’s primary responsibility?

a)  Provide deposit insurance to avoid bank panics
b)  It is the executor for government bond payments and redemptions
c)  Regulate foreign exchange transactions
d)  Control the money supply
e)  All of the above
Answer: D
7.  Bob, a car mechanic from Detroit, is out of a job since he his company has been transplanted to China. He had been frantically looking for a job and going to agencies every single day, but has since started staying home. Bob is part of the ____ .

a) cyclical unemployment figures

b) frictional unemployment figures

c) structural unemployment figures

d) discouraged workers figures

Answer: D
8. Which of the following would not increase U.S. GDP?

a)   Japanese firm Honda expands its factory in Marysville, Ohio.

b)   A family buys a new refrigerator.

c)   You buy a used text book.

d)  General Motors builds a new plant in Detroit.
e)  All of the above
Answer: C

9. Which of the following statements is FALSE?

a)   One problem with any fixed-bundle index as a measure of the cost of living is that it does not account for substitutions that consumers might make in response to price changes

b)   The producer price index is considered to be a leading indicator of future inflation rates

c)   The best overall indicator of inflationary pressures in the economy is the GDP deflator

d)   The consumer price index somewhat understates changes in the cost of living

Answer: D

10. Suppose the Consumption function was defined as C = 150 + 0.9(Y-T) 

Suppose further that investment spending (I) is fixed at 100.  What is MPS?

a)  0.9

b)  0.1

c)  150

d)  50
e)  None of the above
Answer: B

11. Suppose in the economy Wonderland, the chairman of its Central Bank announces an increase in short term interest rate. The likely impact of such an increase will be:

a) A decrease in planned aggregate expenditure, a decrease in aggregate output, and a decrease in consumption.

b) An increase in planned aggregate expenditure, an increase in aggregate output, and a decrease in consumption.

c) A decrease in planned aggregate expenditure, a decrease in aggregate output, and an increase in consumption.

d) An increase in planned aggregate expenditure, an increase in aggregate output, and an increase in consumption.
e) None of the above
Answer:  A

12. Refer to the figure above, if MPC increases to 0.8, equilibrium aggregate output 

a)   Increases 

               
b)   Remains the same
               
c)   Decreases 

               
d)  Cannot be determined from the given information

Answer: A

13.  If a U.S firm owned by U.S citizen located in China exports desks to UK, which of the following is correct?

a) desks are included in U.S real GDP.

b) desks are included in U.S nominal GDP.

c) desks are included in U.S GNP.

d) desks are included in UK GNP.
e) None of the above
Answer: C
14. The government decides it wants to provide the biggest possible stimulus to the economy.   Which of the following three choices will accomplish this?

a) Cutting taxes by $100 billion
b) Increasing spending by $100 billion
c) Both cutting taxes by $100 billion and increasing spending by $100 billion
d)  All of the above
Answer: C

15.   Suppose the U.S. government is running a budget deficit.  Which government entity issues government securities to the public to finance the deficit?

a) Federal Reserve

b) Office of Management and Budget

c) Securities and Exchange Commission

d) Treasury Department

Answer: D
16.  Banks borrow from each other. What is the interest rate called in this inter-bank loan market?

a) Prime rate

b) Mortgage rate

c) Federal funds rate

d) Discount Rate

Answer: C
17. A government that wanted to decrease Y without changing r could do so by _____ G and _______ by the appropriate amounts.

a) increasing, decreasing money supply

b) increasing, decreasing money supply

c) decreasing, decreasing money supply

d) decreasing, increasing money supply

Answer: C
18. If the government spending multiplier is 10, then the tax multiplier is

a) 9

b) -9

c) 10

d) cannot be determined because the MPS is not given
Answer: B
19. If the Federal Reserve decided to increase the money supply, it would result in

a) A higher interest rate

b) Less investment

c) Lower consumption

d) None of the above 

e) All of the above

Answer : D
20. If the government imposes an effective price _____ there will be a shortage and loss of producer surplus.
Answer: ceiling
PART II : Short Answer, 12 points (each question is worth 3 points).
1. What are the three main tools the Federal Reserve can use to influence the money supply?.  Briefly describe each in one sentence.
Discount rate -  The rate charged on commercial bank borrowing from the Fed

Reserve requirements – The amount of reserves a bank must hold for a given amount of liabilities, expressed as a percentage

Open Market operations – Purchases and sales of bonds from the private sector

2. (2 points) Illustrate graphically the effects of a decision by the Bank of Japan to loosen monetary policy. What are the effects on money markets, equilibrium output and investment?
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3.  What is the money multiplier?   Why is it important?  What value of the money multiplier would minimize the influence of a given change in the money supply?
The money multiplier is the reciprocal of the reserve requirement
It determines the amount of money creation that results from a given change in reserves

The highest reserve requirement that is possible is 100%.  In this case the money multiplier is 1.

4. What are “automatic stabilizers”?  Give at least two examples.
Automatic stabilizers refer to tax and expenditure items that change in response to changes in GDP in such a way as to moderate or slow down that change.  That is, when GDP is rising they tend to decrease spending and/or increase taxation, and when GDP is rising they do the opposite.
Examples are income taxes and unemployment benefits. (There are other examples that are valid)
Part III.  Read the following Question and Answer from an economics blog in the New York Times on October 6 and answer the following questions.  Use graphs where appropriate.
Stimulus Money (3 points for each question)
Q.

One of the arguments I hear most frequently against fiscal stimulus is that we’re taking money from future generations. While I understand the benefits that such a stimulus can provide now, how is it beneficial in the long term? — Chris B.
A.

First of all: in the immortal words of John Maynard Keynes, in the long run we are all dead. Beyond that, however: the recession is causing low business investment, which means lower capacity in the future; it’s causing young people to postpone or cancel education; it’s pushing people out of the work force, eroding their skills; it’s raising child poverty, with devastating consequences for personal development. Stimulus, by mitigating the slump, helps limit all these long-term costs.
1.  Illustrate, using the 3 panel diagram, the effects of low business investment on the overall economic equilibrium.
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2.  Illustrate, using the 3 panel diagram, how a stimulus could reduce or even reverse the effects of the low business investment.
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3.  Suppose that the stimulus is large enough to reverse the overall effects of the low business investment.  State what has happened (higher, lower or remains the same) to C, I, G and r.

C would increase, I would either increase or decrease , G would increase, and r would either increase or decrease.  
4.  Now imagine that Martians have secretly taken over the mind of Ben Bernanke, head of the Federal Reserve, and that they are determined not to let the stimulus succeed.  What could they do to undermine its success?

If the Martians want to make sure that the stimulus fails, they can reduce the money supply.  This will lead to higher interest rates and less investment
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